WAT-BPBF B EEE i 58 Jiwata TOHATSU

R
ROHS
(. ! HE | B
SS400 P
SUS304 -
2-od
AT
T
(A
@l -
Il
Il ; Il
P
L
M
L L
— [
< s
| | | |
IR CFRAE A p 7aE
TYPE M N H o e | Z S od H L T
() gz |IMMIEE) | (ImmIRE)| & | ximm)
4 M4 x0.7 5~15 12~15 A A 3.5(M3M) A+ 5 25 10
5 M5 x0.8 6~20 15~20 A A 4.5(M4F8) A+ 6 32 12
6 M6 x1 M6 x0.75 ~22 18~25 A A 5.5(M5F) A+ T 38 16
M8 x1.25 M8 x0.75 9~30 21~29 VAN A 6.6(M6 A+ 9 44 19
WAT-BPBF |2 (MEF3)
10 M10x1.5 M10x1 11~35 26~32 A A 9(M8FE) A+11 50 22
12 M12x1.75 M12Xx1 13~40 33~43 A A 11(M10A8) A+13 65 25
16 M16x2 M16x1.5 15~45 39~51 A A 14(M125) A+15 75 30
20 M20x2.5 M20x1.5 18~55 44~76 A A A+18 100 32

e[ TYPE |[M][BEmE]-[ A |-[ P |- [ME] = i[20] X |

WAT-BPBF 16 N -A20-P40 - Z




